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POPULATION STUDIES
Paper — 11

marks. Attempt all the questions.

Which Census onwards 0-6 age group
is considered as illiterate population in
India ?

(A) 1981 (B) 1991
(C) 2001 (D) 2011

According to the Sample Registration
Bulletin December 2011, which among
the following States has lowest infant
morality rate ?

(A) Kerala
(B) Goa

(C) Manipur
(D) Tripura

Which State among the following has
shown highest death rate as per SRS
Bulletin December 2011 ?

(A) Goa

(B) Himachal Pradesh
(C) Nagaland

(D) Meghalaya

Among the following States, which has
highest percentage decadal growth rate
during the 2001 — 2011 ?

(A) Arunachal Pradesh
(B) Bihar

(C) Rajasthan

(D) Madhya Pradesh

As per 2011 Census of India, which is
the overall sex ratio of the country’s
population ?
(A) 820
(©) 920

(B) 840
(D) 940

Paper-11

10.

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

Which one of the following formula
gives doubling time (t) of a given
population ?

2 log 2

A) =2E (g (——=
T T

loge2 log?

_ _log®

© t=— (D) t="%

Which among the following rate is
referred as probabilistic rate ?

(A) Migration rate

(B) Crude death rate

(C) Marriage rate

(D) Crude birth rate

Which among the following is not a
non-probability sampling ?

(A) Accidental Sampling

(B) Purposive Sampling

(C) Quota Sampling

(D) Simple Random Sampling

Which among the following measure
was used by ‘Rele’ for fertility
estimate ?

(A) Reverse Survival Method

(B) Child Woman Ratio

(C) Parity Ratio Methods of Fertility
(D) P/F Ratio

Death rates are standardized to
(A) eliminate the differential

influence of one or more
variables.

(B) obtain an estimate of the ideal
rates.

(C) correct under registration of
deaths.

(D) obtain correct estimate of actual
rate.

D-15-12
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TGS AT
woas — 11
fEor: 9 Uvo | we (50) SE-faehedia IR E | U TR e (2) 3Tk € | Wl IR h ST |

ARA H e SO & 0-6 3 & H
ST ST & T H G A & 2

(A) 1981 (B) 1991
(C) 2001 (D) 2011

T TAERE goffeT T 2011 %
IR, e # ¥ fo6g =g | 1y

T X F=em € 2
(A)
(B) TeT
(C) mfTgR
(D) Fg

TR, doifed, RE=R 2011 &
IR, Fefafed # 4 fog T &
AT g TWE 2

(A) TeT

(B) Team=e wew

(C) -mmeis

(D) WHae™

frafefad & 9 9 T & 2001-2011 &
IR DA g T ITIqH WA & 2
(A) 3OS TR

(B) fwer

(C) TS=E

(D) T URTT

qRA HI SFIUAT 2011 & AR, 7 6
SEEAT S e TorTT S Wi B et
R feohet Afgemrsti 1 € 2

(A) 820 (B) 840

(C) 920 (D) 940

6.

10.

ffefad § & & 91 R SO
AT A G UG HA & 2
2 log 2

A =2 @) ==

log,” log?
©) t=— D) t==5"
frfeafead 5 | & 9 3 TiigeRdr S
TE?
(A) TS
(B) N 9 5T
(C) foame =l 3T
(D) 3T ST 5T

Ffeifed 5 @ Wigehdr Ufdea siF a1
FIE 2

(A) 3TTHRHE Ui

(B) RYIIh Uiqa

(C) e (e ufqe==

(D) A AGTeSH AfTaz—

Frefefad & & fohae STam o grT
TSI ST o fordl o T &1 2

(A) Uidae ITRsHer oty

(B) dTo-Hfger A

(C) TS ! T 3T faty

(D) P/F ST

I T B HE FROT & o AR

fepan <t & 2

(A) U A1 SART T & fodges g9 i
T HAH

(B) 3TE¥ TR T STHH T HA

(C) g =& & aRdgs ¥ FH
USTeRIOT Sl Stk Shi

(D) dTAtaeh 3T T el 3THH I




11.

12.

13.

14.

15.

What is population momentum ?

(A) Tendency of a population to
continue to decline after
replacement level of fertility has
been achieved.

(B) Tendency of a population to
continue  to grow  after
replacement level of fertility has
been achieved.

(C) Tendency of population to move
up and down after reaching
replacement level of fertility.

(D) It is same as population
stabilization.

Which among the North-Eastern States
of India has the highest infant mortality
rate during 2005 — 2006 ?

(A) Nagaland (B) Tripura

(C) Meghalaya (D) Sikkim

Which among the North-Eastern States
of India has the highest literacy level
as per 2011 Census ?

(A) Tripura (B) Mizoram
(C) Meghalaya (D) Manipur

What is the estimated share of disabled
persons in India according to 2001
Census ?

(A) Lessthan 2%

(B) Less than 10%

(C) Less than 15%

(D) Less than 5%

arrange the following States in
descending order of child sex ratio
according to 2011 Census ?

(i) Maharashtra

(1)) Gujarat

(iii) Manipur

(iv) Andhra Pradesh

Codes :

(A)  (iv), (i), (1), (i1)

B) (i), (i), (1), (iv)

(©) (i), (1), (i1), (iv)

D) (@), (1), (i), (iv)

Paper-11

16.

17.

18.

The mean length of generation is

affected by

(A) Age specific fertility rate and
reproductive span of women.

(B) Gross reproduction rate and
average age of women giving
birth.

(C) Overall fertility and mortality
levels and the proportional
distribution of fertility into each
age specific rate.

(D) Survival of female babies born to
those mothers and age of their
marriage.

In intermediate variables framework

developed by Davis and Blake which

among the following is not

“Intercourse variable” ?

(A) Age of entry into sexual union.

(B) Permanent Celibacy : Proportion
of women never entering sexual
union.

(C) When unions are broken by
divorce, separation or desertion.

(D) Foetal mortality from involuntary
causes.

Which one of the following is not
matched correctly ?

(A)  Average age of : Length of
child generation
(B) A group of : Household
people related
to marriage or
adoption
(C)  Net : Replacement
Reproduction level
(NRR) equal to
unity
(D) A married : Zero parity
woman having
no birth
D-15-12



11. S TAAET (FA=H) 7§ 92
(A) TSTHAAT T UGEOA W)W @l
ST % 918 TGS S gdd TR
LRI
(B) TTAAT 1 UIEOA %X W @
S & I S S Fad gy g
I g
(C) VST T AT R AT &Y
T % IS SHEE B T 3R g
i g
(D) T& o/ & § ¥ fF sHgen
feeriemzoT
12. 9RA & W &l T4 H ¥ a9 2005-2006
H fores fo1g] gog ¥ ST € 9
(A) TTeis (B) P
(C) wue™ (D) Tafwre
13. 2011 & SHUAT % IR 9RA % I
T TS W ¥ R ITgan el 'R
T2
(A) B (B) foeiw
(C) Here™ (D) =R
14. 9Rd | 2001 0 SEITUAT % 3TAR faehetim
ST BT ST T feet=Tr & 2
(A) 2% ¥ %A
(B) 10% ¥ &9
(C) 15% ¥ &9
(D) 5% | HT
15. 9RA @ 2011 S SFIOFT & AR ST
o oru & omaR W =fefad st
(i) eRTE
(i) TR
(i) AT
(iv) 7Y w=eT
E
(A)  (iv), (iii), (), (ii)
(B) (i), (iii), (1), (iv)
(©) (iib), (1), (iD), (iv)
(D) (@v), (), (iii), (iv)
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16.

17.

18.

el ot S aEar e wwiferd giat € 2

(A) 31 fafeTe go=aT 3T 3R =t &
ST 1o
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% g et @t e g
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(A) T HET R
g o
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19.

20.

21.

22,

Which one among the following term
refers to number of children an average
woman can bear in her reproductive
span ?

(A) Fertility

(B) Fecundity

(C) Real birth rate

(D) Crude death rate

If sex ratio of birth is constant at 1.05,
then the Gross Reproduction Rate
(GRR) can be calculated using Total
Fertility Rate (TFR) by the formula

(A) GRR = 1.03(;F5FR
(B) GRR= 1015%
(C) GRR= 1.0;(;1;FR
(D) GRR= 2015%

Which one of the following statements
is least accurate as they relate to life
expectancy ?

(A) Life expectancy in some
countries has actually dropped
over the past two decades.

(B) Life expectancy in Japan is about
five percent longer than in the
United States of America.

(C) Life expectancy in the United
States of America for people
born in 2002 is about 77.3 years.

(D) Life expectancy is by nation and
varies insignificantly based on
race or sex.

Who are the two early conflict theorists
who refuted the Malthusian Theory,
because they recognized that farming
could match food supply needs of
population ?

(A) Edwin Sutherland and Donald

Cressey

(B) Robert Merton and Michael
Burraway

(C) Auguste Comte and Henri Saint
Simon

(D) Karl Marx and Fredrich Engels

Paper-11

23.

24.

25.

26.

If country A has a higher life

expectancy than country B, but A has

higher crude death rate, it is likely that

(A) A’s population is younger than
that of B.

(B) A’s population is older than that
of B.

(C) A’s population has a high infant
mortality rate.

(D) None of the above is probable.

The death rate of a stationary life table
is 10, then what would be life
expectancy among the following ?

(A) 65 years (B) 100 years
(C) 50 years (D) 75 years

Assertion (A) : Fertility transition in
the Southern States of India has
been found relatively faster as
compared with the transition
taking place in Northern States.

Reason (R) : This is due to relatively
higher female empowerment in
the Southern States as compared
with the empowerment of the
women in the Northern States.

Codes :

(A) Both (A) and (R) are correct and
(R) is correct explanation of (A).

(B) Both (A) and (R) are correct but
(R) is not correct explanation of

(A).
(C) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.

Which among the following does not
explain the law of urbanization ?

(A) Push and Pull factors
(B) Dispersal and Segregation
(C) Distance-Decay function

(D) Laws of gravity
D-15-12
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20.

21.

22,

ffafEa § 9 i 91 ST Gohd Hdl &
% U oiad AfeeT T USTA oTaty o
Tohe =r=al ol STV < Wehall & ?

(A) TSTAT

(B) -SRI

(C) drfas S+ &

(D) 3TITed Jog 3T

g ST & qAF T SO 1.05 W &R
&, A bl USH X (ST.3TX.3TR.) I oA
TSTAT 3Y (21U, 3R, 1 SUFT Hdl gU
T T g1 uiehford foa ST Tehe & 2
1.00 2.0, 3T,

1.05

1.00
1.05 21.U%. 3R
1.00 2.0, 3T,

2.05

1.00
2.05 2.TH 3R,

(A) SRR, =

(B) SI.3R3R. =

(C) SRR, =

(D) SRR, =

Hier Fffad & Saa Jemn 9

ety € 578 9 B 1 g Y T § 2

(A) P I A S voamn e o
T H TR § IR E |

(B) UIR [A MR H qor H
SO OSieE g Ut uiderd
SR E |

(C) HgF T9 SR § a9 2002 H
S G Sl ST UTe ST
773 9 |

(D) STia- YT I gRT a9 &l € 31T
TG T foTT o STeR W a9gd %A
uRafcd gt & |

fteiad & | 7 31 55 fagTaemett &

Aeagars! fagrT & @ued foar F=ifh

ST BT 7 fob Wl a1 W, STHEET i

Qe 3T Sl SATIHATST Y RIS F

EE

(A) TSl Getelts 3R SHes shat

(B) e T 31X HTEhel 0

(C) 3R i 3R TR T AreH

(D) et 91T 3R TheReh UsToy
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23.

24.

25.

26.

Ifg 39T A BT SIa- UM, 91 B ol T

T 39 8, W] I A H T Jog &

MY €, o g TTedT & 1

(A) T A I SHEET I B B STHGEAT
=l o H SR A ¢ |

(B) T A B SHEEAT <9 B HI I H
AR WE © |

(C) = A F SHIEN = B 97
SHE |

(D) ST § ¥ Hig G Fal & |

Ifg ifqer e difetst &1 g T 10 €,
ar ffefaa o @ Sfem ueamm o= &
gt 2

(A) 659

(B) 100 a9

(C) 509

(D) 75 a9

AMUHUT (A) 1 R F SIOT T A
TSl ORI W qoHTTs €9 o
ST §A U AT ST ST a4 "
g @ aEdT & |

FROT(R)  :3E ST A1 | Ofgersi
% GRITRTBROT T o | JRIv et
H goMicA®s ®9 ¥ 3I=d  Higel
TTERIHIOT & HROT |

FE:

(A) (A) 3R (R) 31 Tl & & (R),

(A) Sl T&l T ¢ |
(B) (A) &R (R) 3l Wl ¥, W (R),
(A) I TE! AT TE T |
(C) (A)TTE W (R) STAT |
(D) (A)3TA T, W (R) TAT |

frafafad & @ &9 @ IR
(AT TRISHOT) & 729 ol ST Tél Rl & 2
(A) T T T FRE

(B) ToRIE T YRRl

(C) T-31aerg A

(D) = & AT
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27.

28.

29.

30.

Assertion  (A) International
Migration leads to rise in
productivity in both the sending
and receiving countries.

Reason (R) : Emigrants are receiving
better wages.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R)
is not the correct explanation of
(A).

(C) (A)is true and (R) is false.

(D) (A) is false and (R) is true.

Which of the following countries has

the highest out migration of the nursing

professionals ?

(A) The Philippines

(B) Pakistan

(C) Bhutan

(D) India

Which of the following did not give a

model of city structure ?

(A) Homer Hoyt

(B) E.W. Burgess

(C) Harris and Ullman

(D) Michael & Todaro

Match the demographers in List — I

with their contributions in List —II :

List— I List —1I
a. Enke i. The Limits to
Growth Theory
b. Easterlin  ii. Cost-benefit
Analysis

c. Liebenstein iii. Cn-Cd Framework
d. Meadows iv. Demographic
Transition Theory
Codes :
a b c d
(A) ii 1 iv 1

B) i i i v
(C) i i i v
D) iv i il i

Paper-11

31.

32.

33.

Which of the following is known
for his contribution towards
theorising social composition of
population ?

(A) Goldsteen and Sly

(B) Shyrock and Siegal

(C) Talcott Parsons

(D) D.J. Bogue

In which stage of industrialization
given below the fourth stage (4) of
Demographic Transition Theory would
occur ?

(A) Advanced Industrialization and
Urbanization stage

(B) Pre-industrial stage
(C) Early Industrial stage
(D) Post-industrial stage

Match an item from List — I with an
item from List —II :

List — 1 List — 11
a. Theory of i.  William Brass
Stable
Population

b. Singulate Mean ii. Lotka
age at marriage

c. Intermediate  1iii. Hajnal
variable
framework
d. P/F Ratio iv. Davis and Blake
Codes :

a b c d
(A) i iii i iv

B) i i i iv
©) i il iv i
(D) iii i i iv

D-15-12



27.

28.

29.

30.

AU (A) : STRET Yo, U aret
TN W FRA et AT S OH
SCATEHAT T i 3T T AT & |
HWOT(R)  : SOEM Seak Heigdl oTe
HAE |
E
(A) (A) &R (R) IHi & & 3R (R),
(A) & TE AL |

(B) (A) ¥R (R) IH 7 & W (R),
(A) Tl T AR T € |

(C) (A)TTE 3T (R) 3TAT |

(D) (A)3TAT IR (R) TAE |

Fefafegs 4 @ f69 o § 9w
I o SE TG ! T ATIHaq
g2

(A) TRicTaE=

(B) i

©) 4=

(D) Rd

frefafaa o @ frea TR g9 ar G
T Higet A&l fear o 2

(A) B EUE

(B) =g oiE

(C) 2w wa 3o

(D) TEHA TS TSR

T — 1 1 & — 11 % |7 Grierd e

et -1 =t - 11

a. Tk i. gtg fagra =t
e

b. T ii. emTa-omy forwetoT

c. MR iii. Cn-Cd ®@m

d. ge iv. SR T
(Esr-{ea]

E T

a b c d
(A) 1 i iv 1
B) i i1 111 v
©) 1 111 1 v
(D) iv i1 111 1

31.

32.

33.

FeAffEd 0 9 $i9 SEE % g
e o fagTe ®1 § e %

for st s € 2

(A) TieeEH Ud e
(B) M TH A
(C) T TRETH

(D) St am

ArenfireneRor sl f=fefad et 4 |
STHiTeheR HshHUT g sl <iell 3asen
= Hied Bl & 2

(A) S SN SR AR
AR

(B) Y- e
(C) Ry 3fienfies stawen

(D) STRHIEA ST STeren

gt — [ ® 9&1 B g — 1 H H: o |
gHferd &1 :

et -1 it - 11
a. T (Stable) 1. faferaw s
STHAEAT
b. TR FTHT i, AAlEH
THeT ST Mg
c. TeISA O% @A iii. &SI
d. P/F U iv. Sfag wd =i

E T4

(A) i i i v
@) i i i v
©) ii i v i

(D) iii i i v



34.

3s.

What is the main reason for the loss of

bio-diversity in the mountains ?

(1) Indigenous population’s
indiscriminate felling of trees
and animal hunting.

(i) Poaching and wood-cutting by

outside contractors.

(ii1) Natural calamities.

(iv) Large scale mining and laying
down of road and railway
network.

Codes :

(A) (@, (i), (iii), (iv)
B) (), (i), (ii)

(©) (i), (iv)

(D) (@), (i)

Match List — [ with List — 11 :

List -1 List — 11
(Major Air (Sources)
Pollutant)
a. Carbon 1. Incomplete fuel
monoxide combination (e.g.
two stroke engine).
b. Sulphur ii. Smoke from
dioxide domestic,
industrial and

vehicular sources.

c. Oxidants iii. Emissions  from
and ozone motor vehicles,
photochemical
reactions of
nitrogen  oxides
and reactive
hydrocarbons.
d. Lead iv. Emission from
motor vehicles.
Codes :
a b c d
(A) i ii iv iii
B) i ii iii iv
©) i 1 i v
(D) 1 i iv i
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36.

37.

38.

At what rate tropical forests
vanishing annually in the world ?

are

(A) 15 million hectares
(B) 13 million hectares
(C) 17 million hectares
(D) 19 million hectares

Match item in List — I with an item
from List — 11 :

List—I List — 11
a. Capital 1. A pattern of
Goods behaviour with a
particular position
in a group.
b. National ii. A group with
Income common distinct
culture.
c. Role iii. Means of
production.
d. Society iv. Money value of all
goods and services
in a country in a
year.
Codes :

a b C d
(A) i 11 1il v

B) i v i i
© i i iv il
(D) ii il iv i

Assertion (A) : Fertility is declining in
non-contraceptive population.

Reason (R) : Better empowerment of
women in the country.

Codes :

(A) Both (A) and (R) are true, and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true but (R)
is not the correct explanation of
(A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.
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34.

3s.

Tedl I er-fafauar & g & 1 SHRoT

frafafaa g a g 2
() T ST FRT TS STy
R 317 wepst =t e

(i) ST IHERT FRT AHE! HleAT 3R
SRR RN

(iii) TTHIdH ITMURTE

(iv) o€ 9 W G a7 T e Lo7d
Jeareh o T

E T

(A) (), (i), (i11), (iv)

B) (@, (i), (i11)

(©) (), (iv)

D) (), (i11)

T — [ 0 g2t — 11 % | goford e

e -1 =t - 11
(T g (&)
UgEF)
a. i, 3Tqul $u HaARE
A SRS (3T & '
ESE)!
b. FEH ii. B, 3t qen
T RS IHE i g gt
c. fRASSH i HieX Al |
3T 3= SIS, ATE2ISH
afraEed R
Ruferee eregt
HIITT
kocicatcag)
[RECHET
d. 9 (@) v, Wi deAl ¥ Ieae
&<
a b c d
A) i i v i
B) i i 111 v
©) i i i v

(D) i i iv i

36.

37.

38.

fova o IWTRicaH a9 A w9 ¥ 59
WIATAHTE?

(A) 15 fafeam gt

(B) 13 faferas gaex

(C) 17 Tafersm goex

(D) 19 Taferam geex

gt — [ H wel & gEr — [ H H&E o |
gHferd &

et -1 =it - 11

a. USITT oqd i, UYE § U a9 Ug
ferfd & |1 aer
T A

b. TR 3 ii. T Tt wel e
3T EHHT &

c. e iii. ST o |E

d. 9o iv. 391 9 U av §
T TR 3T
JareT = Hitgew
Hea

B

(=N

a b c d
(A) i i 1 v
(B) it iv 1 1i
(O i v 111
(D) 1 i iv i

AfHe (A) : ™ TRius &1 STET T
A Aol TGS H STl 69 8l
@WE
HROT(R) 39 T Afgenel & Sea
TITRIHIOT |
ETE
(A) (A) ¥R (R) SHI &= & 3R (R),
(A) & TE AT

(B) (A) 3R (R) THI 7 & W (R),
(A) I T AR T € |

(C) (A)TF &, R (R) ITA T |

(D) (A)3TA T, R (R) TAT |




39.

40.

41.

Assertion (A) : Sustainable development
is not an achievable goal in
India.

Reason (R) : Skewed resource use,
high population growth and
growing purchasing power are

deterrents towards sustainable
development.

Codes :

(A) Both (A) and (R) are true, and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not correct explanation of
(A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

The concept of a ‘biovillage’ involves
(i) Human centred development.

(1) Improvement of land and water

quality.

(ii1)) Improvement in the income of
farmers.

(iv) Improvement in transport and

communication.
Choose the correct combination :
(A) (1), (ii), (ii1)
(B) (i), (iii), (iv)
(©) (), (ii1), (iv)
(D) (@), (i)

Which of the following is not a
measure of socio-economic status ?

(A) Physical Quality of Life Index
(B) Human Development Index

(C) Gender Empowerment Measure
(D) Body Mass Index

Paper-11
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42.

43.

44.

45.

Which one of the following is not a
spacing method of family planning ?

(A) Hormonal Method

(B) Barrier Method

(C) Vasectomy

(D) Intrauterine Device (IUD)

In which year, the Government of
India launched the Reproductive and
Child Health (RCH) Programme ?

(A) 1994
(B) 1995
(C) 1996
(D) 1993

Which of the following countries is
promoting larger families because of
ageing population and low fertility rate ?

(A) India

(B) France

(C) United States of America
(D) China

Which one amongst the following
is not a Millennium Development
Goal ?

(A) Improve Maternal Health

(B) Combat HIV/AIDS, Malaria and
other diseases

(C) Ensure Environmental
Sustainability

(D) Develop a Local Partnership for

Development
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39.

40.

41.

APUHAT (A) : IR B RO foTerd e
H AT 7T T E |

HROT(R)  :Toum Farem 3w, <9
SHEE ghg R dgdl g a e
YRy foehrd o e € |

E T

(A) (A) 3R (R) IHT ¥ & 3R (R),
(A) T & AT |

(B) (A) &R (R) 5HI R g W (R),
(A) T TEl =T T E |

(C) (A)TTE R (R) AT |

(D) (A) 39 ¢, W (R) TAE |

S A T STTHROT {ha SR FRell & 2
(i) AT Hsa foh

(i) 9 T STeT S TUTEEr § guR
(i) foramT =t o | ghg

(iv) UReR" T §9R | guR

TE G BT T A

(A) (i), (i), (iii)

(B) (i), (iii), (iv)

(©) (), (iii), (iv)

(D) (@), (ii)

Fefafad 5 9 S 91\ s
et s |19 @ & 2

(A) ST g i Hifcss ToTer

(B) WA {ah gaich
(C) SIS TRITRIHOT H1T

(D) @€t HE  ISRI/FNTR  FEHE
AR

42.

43.

44.

4s.

IRER s 6t ST I ieRe ggid
freferfaa 9 9@ =9 @ @i & 2

(A) EREA g fafy

(B) 3y faty

(C) o FEe

(D) e feard (g2l

ORG U WS Ud o7 W SHEhsH
TRAT TR 7 {58 a9 § gy o 2

(A) 1994
(B) 1995
(C) 1996

(D) 1993

SEET % dgH AR T uSE W H
HROT DI T 3T T UNERI ! TG &
g9

(A) Wnra

(B) W

(C) guam

(D) ==

ffeiad & ¥ iF Q1 Teare o e
T &2

(A) W e FERA

(B) TR CSH, FeRAT IR
T T foRie AT

(C) TATERTI YRONAr GHvad T

(D) foepra & R WERERT ot
AT



Based on the following table, answer Question Nos. 46 — 50 :

46.

47.

48.

49.

50.

Table : Poverty levels for Major Indian States 1973 — 74 to 2004 — 05

State 1973 — 74 1993 — 94 2004 — 05
1. | Andhra Pradesh 48.86 22.19 15.8
2. | Assam 51.21 40.86 19.7
3. | Bihar 61.91 54.96 41.1
4. | Gujarat 48.15 24.21 16.8
5. | Haryana 35.36 25.05 14.0
6. | Karnataka 54.47 33.16 25.0
7. | Kerala 59.79 25.43 15.0
8. | Madhya Pradesh 61.78 42.52 39.0
9. Maharashtra 53.24 36.86 30.7
10. | Orissa 66.18 48.56 46.4
11. | Punjab 28.15 11.77 8.4
12. | Rajasthan 46.14 22.41 22.1
13. | Tamil Nadu 54.94 35.03 22.5
14. | Uttar Pradesh 57.07 40.85 33.1
15. | West Bengal 63.43 35.66 24.7

Arrange the following States in ascending order (from low to high) in terms of poverty level
for the year 1993-94 :

(1)  Andhra Pradesh (1) Gujarat
(ii1) Karnataka (iv) Punjab
Codes :

(A) i i i iv

B) iv i i i

©) 1 i iv i

(D) iv il i i
Which of the following States showed highest level of poverty during the year 1973-74 ?

(A) Kerala (B) Madhya Pradesh

(C) Orissa (D) West Bengal

Which State among the following has shown lowest poverty in Indian States during 2004-05 ?
(A) Haryana (B) Punjab

(C) Andhra Pradesh (D) Assam

Arrange the following States in descending (high to low) order of level of poverty during
2004-05 :

(1)  Andhra Pradesh (1) Punjab
(1i1) Kerala (iv) Haryana
Codes :

(A) iii i v i

(B) ii ii i v

(C) 1iv i i il

(D) i i iv il

Which of the following State has shown drastic decline in poverty from the year 1973-74 to
2004-05?

(A) Kerala (B) Punjab

(C) Karnataka (D) Andhra Pradesh
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FATaREa atfetehT & 3TUR W A 153 U9 &1 46 — 50 T SW S

46.

47.

48.

49.

50.

ATfeTehT : A HRA It & 1w Fe=ar & ¥ (1973-74 | 2004-05 76)

T 1973 — 74 1993 — 94 2004 — 05
1. ATY U0 48.86 22.19 15.8
2. | mEm 51.21 40.86 19.7
3. | @R 61.91 54.96 41.1
4. | Rma 48.15 2421 16.8
5. | gramm 35.36 25.05 14.0
6. | FARH 54.47 33.16 25.0
7. | e 59.79 25.43 15.0
AREEE 61.78 42.52 39.0
9. | HeRTZ 53.24 36.86 30.7

10. | afifewn 66.18 48.56 46.4

1. |99 28.15 11.77 8.4

12. | == 46.14 2241 22.1

13. | amerrg 54.94 35.03 22.5

14, | ST WY 57.07 40.85 33.1

15. | ofv=m s 63.43 35.66 24.7

?;farF@ﬁWq‘iaﬁaﬁ 1993-94 % o3 FeAa TR & T el (e | S=) sh9 9 oFaferd

(i) 3T WRw (i) TR
(ili) HAeH (iv) oI
&<

(A) i i v

(B) iv i i i

(C) i dii iv i

D) iv i i i

frafafad 7 @ feg T=om a9 1973-74 % A TR 1 Seadyq & 90T ?

(A) (B) T WRYT

(C) efifear (D) et amer
frfafaa & @ fra T 3 99 2004-05 % IRE F=1aqq Fe=ar 9 2
(A) R (B) U

(C) 3Ty uswt (D) 3mEm
ftefad T2t Bt I 2004-05 o IR % FETaT T I STeRIEN HH (S0 & F0) T oFaterd a1
(i) ¥R (i) o

(iii) e (iv) eRamn

(A) 11 11 v 1

B) i i i iv

€ iv i i i

D) i i iv i

frfefad ¥ 9 69 T 3 99 1973-74 T 99 2004-05 T FE=ar 9 Y=g AT 39S
(A) HA (B) UE

(C) wieh (D) 3T TR
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